Thisis asample multiple choice final. The questions cover ALL the sections of the book and so many are
not needed for your class. Skip the questionsthat are over subjects you didn’t cover.

Some changes are

Use (e) for none of the above (thereis at least one)

the’ symbol for sets means complement

Question 33 isapopulation (if your class covered the difference between a sample and popul ation)

We have not done grouped data in this class, so skip question 34
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3.

Write an equation in standard form for

the line through
(3, =5) and {~3, 7).

{a} x + 2y
(e) x + 2y

1]
[

(b) 2x + y
~7 (d) 2x + ¥y

Ik

11

H

it
"

Joe received 55000, He invested some of the money at 6%

and the rast at B%. He earns $380 in simple interest
for 1 yr. How much was Invested ar B8&?

{a) $1000 (b) $2000

() $3000 (d)  $5000

If f(x) = x2 + 3, find F{3 + d),

fa) d? + 12 (b} d% + 6d + 9
{cy d? + &d + 172 (dy 42 + 9

Suppose that the variabla cost of producing an item is
$300 and the fixed cost {s $200. Find a linear cest
function for production of this ftem.

{a) C(x)
(e} C{x)

It

200x + 300 (b} ©€(x)
500x + 200 (d)  Gfx)

300w + 200
300%

A machine with a purchasze price of $12,500 has a scrap

value of $3700 and a 5—year lifa. Find the second-year
stralight-1line depreciation.

(a) %2500 {b) $2346.67
{c) $1760 {d) §740



6. Give the solution of the system with the following

angmented matrix.

1 0of-2
0 &|18

{a}
{c)

(_2. 6}
(-2, 18)

7. Use the Gausz-Jordan method to solve the fellowing system
Give only the

of equations,

{k)
(d)

{_zl 3}
-2, 9)

X-value of the solution,

-4x + ¥y = -12
Iy + 2z = -18
2x - 3z = 13
(a) 2 {by -2 {c) 13 fd) HNo solution
8. Ifa=[: g] andn:[*;], find A& + B.
5 2 5 3 10
(@) [m a] ®) [m 2] (e [1]
{d} HNot pessible
9. IfA=[g g and,a:[_ﬂ. £ind AB.
_ 0 -6 &
@ [0 -] o [2] @ [ ¢]
{d} Product does net exist,
L[ 2 &4 .
10 If.ai-[__3 5], find A1
o1 -3 3 _2
-2 4 i 22 11
@ [ 2] o o @ |3 1
2 22 11



11. Describe the graph of the inequality 2y + 4x < B,

{a) The repion to the left of the dashed line y = -2x + &
{(b) The region to the right of the dashed line y = -2= + 4

{¢) The region to tha left of and ineluding the solid
line y = -2x + 4

(d) The reglon to the right of and including the solid
line vy = -2x + 4 11.

12. Graph the feasible region for the follewing system
of inaqualities,

—2 < x <4
D=xy x5
2x + Iy > & 12.

13, If the feasible region for a =ystem has corner points
(¢, 8), (4, 2), and (3, 0), find the minimum value of
the objective function z = 6x + 4y.

{a) 36 (hy 32 {c) 30 (dy 24 13,
14. Use the graphical method to solve the follewing ¥
linear programming problem.
Maxinize z = 2x + 3y
Subject to: 2x + 3y =-10
K—:,'E':} >
x= 0 x
vz 0,
30 10 10
(a) 10 at (5, O} m® L a (_?_' ..?_)

(e) 15 at {0, 5} fd) Ne maximum value 14.



15. It takes 3 hr to build a planter box and 2 hr to paint Lt.
It takes & hr to build a step-stoeol and 3 hr te paint 1t.
A man has 12 painting hr and & building hr available. If
x 1z the number of planter boxes and y the number of step-
staools, which of the following systems of Inequalities
deseribes this preblem?

(a) 3Ix + 2y = B (b) 3x + 4y = 8
Gx + 3y = 12 2x + 3y = 12
x=0D, vyv=0 x20, y=20

{ey 3x+ 8By =4 (d) 3z + by < 12
2x + 12y < 3 %+ 3y < 8
x>xQ, y=0 x=0, vy=>=0

16. Read the solution from the following simplex

tableau.
X, Ry %, X, 2
5 00 3 1 u|1?
4 1 5 o 0| 20
-1 ¢ & 0 1| ©

{a) %, =3, %,=0, %3=3, x, =1, z=17

(b %, ==~1, %, =0, x5 =6, x, =0, z=1
(e) %, =0, 5, =20, x,=0, x,=17, 2=10
(d} 1‘1:0,1{2:20,3{3:[},}14:1.?.z=1

17. To solve a linear programming problem with the fellowing
initlal simplex tableau, vhich element would be selected

as the first pivot? *
X, ®g %3 X, Z
1 5 ¢ 10 ¢ ’ 100
6 4 1 15 O | 200
o -6 0 -10 L[| ©

{a) 10 {b) 15 {cy 3 {dy -6



18.

19,

0.

21.

22,

Find the transpose of the following matrix,

2 0
i -1
1 4

0 27 3 -1
{a) |-1 3 MdY |1 &4
4 1 2 0
1 4] -
2 3 1
(e) 3 -1 {d) _ ]
2 o (0 -1 4

How many subsets does the set {a, b, ¢, d, &} have?

(a) 64 (b) 32 () 16 (d) 30

Which of the fellewing statemants iz falge?

(a) 7€47, 9, 12} (®) {a, b} C {a, b}
(e} 6 ¢ {5 6, 7} (dy ¢ {5, 6, 7}

If A= {6, 8 10, 12, 13} and B = {6, B, 11, 15},

find & v B.

(a) {6, 8, 10, 12, 13} () {6, 8, 10, 11, 12, 13, 15}
{(c} {6, &} (dy @

Suppose that a single card is drawn from a standard 5-card
deck. Find the probability that the card 1s a black seven,

@z ®F ©F @k

23. If P{A) = .3, P{B|a) = .6, P(B|a) = .1, find P(B’[a).

12 7 4

(a) 7g by 1¢ (e} =% (dy .9



24,

5.

26,

27.

A survey of menbers of a health club found thac:

24 membersa swim;

3?2 members use exercise bikes:

20 members use welight machines;

8 members swim and usa weight machines;

13 members use exercise bikes and weight machines;

12 members use sxsrcise blkes omnly:

5 mambers swim, use axercise bikes, and use weight machines;

4 members do not swim and do not use either exercise bikes
or welght machines,

Use a Venn diagram to determine how many members were surveyed.

{a) 120 (b) 382

(c) 4B (dy 54

Suppose that Greg has & shirts, 5 palrs of pancs, and
3 paira of shoes. How many outfits can he create if
an outfit consisce of 1 shirt, 1 palr of pants, and

1 palr of shoes?

(a) 150 () 30 (c) 90 (&) 14

Find the number of distinguishable permutarions of the
letters in the word "moose.”

(ay 120 {bY 8O (c) 3 (dy 5

From & group of & boys and 3 girls, an after-school
reading club of 2 boys and 2 girls is selected. How
many such clubs are possible?

{a) 12é (b) 720 {e) 18 (d) 45



28, Georgla is taking a S5—question nultiple choice quiz in

which each question has 4 chofces. She guegses on all
of the questions. What is the probability that she
answers exactly 2 of the questiens correctly?

1

27 133 45
@ 1% ® @ & 53 @

29, If 3 balls are drawm from a bag containing 4 red, 3 blue,
and 2 yellow balls, what is the expected number of ¥allow
balls in the sample?

2 2
(a) 2 (b) 1 (e} 3 (d) =
9 3

30. Suppose that a student has test scores of 0, 7B, 80,
and %4. What is the student’'s mean score?
fay 322 by 79
{c) B80.5 (d) 80

i1,

Find the median for the following set of numbers.

6, 14, 92, 13, 12, 11

(a) 10.8) (h)
{e) 11

11.5
(d} No median

32. Find the wode or modes for the following set of numbers,
2, 1,5 2, 8,5, 9

{a) 2 (b) 5

e} 2 and 5 {d) No mode-

3). Find the standard deviatien for the following zet of numbers

FRound to the nearesgt hundradth.

15, 13, 20, 8, 22, 12
{a) 27.20 (b3
ic) 4,76 {d)

3.22
15,88



34

35

36.

7.

Find the mean for the following grouped data, BRound to the
nearest hundredth.

Intetrval | Fregquency
1-3 8
b—6 12
57 20
g-10 32
(a) 6.72 {hy 5.72
{cy 7.72 {(d) 5.30

The probabllity that a certain baseball team will win a
given game is .46. If the team plays 100 games, find
the expected number of wins and the standard deviaticn.
(Round to the nearest hundredth if necessary.)

(a) w4
{e} p

4 .98; o = 46 fb) pu = 46; @
46; o = 4.98 (d) »

6.78
7.35

1]
1]

hé;: @

Wnich one of the following matrices could be a probability
vactor?

(a) [:i 3 :i] ® [7 5 -2]

te) [.999 .111] (@ [.36 .24 .22 .18]

Which one of the following matrices could be a transition
matrix?

& & 0 75 .35
(a) [+1 0 .9] {b) [.25 .ES]

32 .68 2 -1
(e [.hl .59] (d) [—3 4]



8.

39.

40

41.

Suppose that
-2 .B
"“[.1 .9]
1s a transition mattix. What is the probability that

state 1 changes to stata 2 after two repetitions ef
the experiment?

{a) .89 {b) _EA {c) _BO (d) .12

Which one of the following transition matrices is not
regulary

1 2 7 2 4 2
(@) (.3 3 4 ) Lo o 1
1. 1 .3 3
9 .1 1 0
(e} [.3 }'] ) [n 1]

Find all sbsorbing states for the following transition
matrix.

L 2 3
1 1 a o
2 2 .3 .5
3 g a4 1
(a) Sctate 1 only {(h) State 2 only
{c)} Scate 3 only {d} States 1 and 3

A farmer muet decide whather to irrigate his fields,
The payoff matrix for a given week Is as follows.
Rain No Rain
Irrigate |-$2500 $8000
Don't Irrigata $6200  $2100

If thera is a 40% chance of rain during the week, what
strategy is bear?

{(a) Irrigate (b} Don’t irrigate
(¢) Both stratepies ara equally good,

10



42. 1In the following game, decide om the payoff when the strategy
(3, 1) is used.

B
i 2 3
1 4 =2 1
A2 -3 0 2
3 - K| ]
{a} %1 from A to B {b) %1 from B to A
{c) $6 from A to B {d) &5 from B te A 4!

43. Remove any dominated strategles in the following game.

[-3 -2 5
2 1 6

4 -2 -3
2 1 &] 1 L3 2 6
(a) [4 —2 -3 () [—2 -3] (e) [a —3]
(d) No dominated strategies 4

44, TFind any saddle points for the following game.

2 -1
-3 4
6 5

(a) & at (3, 1) (b -1 at (2, 1)
() 5 at (3, 2) {d) Bo saddle point i

45, Suppose that a game has payoff matrix

- 3
= [ 2 D]'
Suppose that player A chooses row 1 with probability .3

and player B chooses column 1 with probability .5. Find
the expected value of the game,

-

(a) %.90 {b) .85
(e) -§.85 (dy §1.05

11



46, Find the sinple interast earned

1f $2450 18 tnvested
at 6% for 5 mo,
{a) $61.25 (b $1&47
(c) %61.87

(d) $2511.25

47. Margaret Murphy opened a savings

§7500. The aceount pays 8% Interest compounded quarterly,
i1f no further depogits and ne vithdrawals are made, find
the balance i{n Margaret’'s account at the end of 5 yr,

{a) $10,500
{c} $B100

account with a deposit of

(b) $34,957.18
(d) §11,144.61

4B. Marc Rossoff wants to have $25,000 available 10 ¥r frem

now to buy a car. How much must he invest today, at &%
conpounded monthly, e¢ that he will have the required
aspunt?

{a) £523,584.91
(c) §13,740 .82

(b} $13,959 87
{(d} 915,000

49. Find the sum of the first five terms of the geomatrie
sequence with a = § and r = -1/2,
9 3 8 2
O N R
50.

Find the payment necessary to amortize a loan of $20,000

1f the fnterest rate iz 10% compounded quarterly and pay-—
ments are made quarterly for 10 yr,

(a) $296.72
{c) §500

(b) $796.72
(d) $800



10.
11.
12.
13.
14.
15.
16,
17.
18,
19.
20.

21,

(d}
{d}
(e}
(b}
(e}
(b}
{a}
(d)
(b)
(]
(aj
(b3
()
(a)
(b)
(¢)
(a)
(d)
(h)
(c)
{b}

26,
27 .
28,

29,

3.
32.
33.
34,
35.
36.
37,
38.

39.

4l.

42 .

43,

43.

{b}
{d}
{e)
{d)
{c}
{b}
()
(h)
(a)
{e}
{d}
(c)
(b}
(&}
{d)
{a)
{c]

(o)
(b)
(a)

13



